Which of the following is an example of quarantine used to control the spread of disease
across regions of Australia?

(A) Killing weeds in infested forests using herbicides and direct removal

(B) Sterilisation of all food products that come from overseas

(C) Sterilisation of all food products before packaging

(D) Removal of fruit from cars travelling interstate

Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6

A 960 1.30 1 0.20 0
B 32.60 21.90 19.80 10.20 3.10
Cc 17.80 9 5.90 1.30 0.60
D 40 67.80 73.10 88.40 96.30
N 0 0 0.30 0 0
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The table and graph show, for the groups of students whose marks in the examination
corresponded to the borderline between two bands, what percentages of each group
selected the responses A, B, C and D. N is used to identify: No valid response.
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